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PART A - General

Section Id :
Section Number:
Section type:

Mandatory or Optional :

8643511226
1
Online

Mandatory



Number of Questions : 25

Number of Questions to be attempted : 25

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511459
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 86435129830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Select the correct option :

You may feel relieved when something bad

1. happens

2. does not happen

3. isremembered

4. occurs
Options :
864351103771. 1
864351103772. 2
864351103773.3

864351103774. 4

Question Number : 2 Question Id : 86435129831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the most suitable synonym :

BARBARIAN
1.  impolite
2. unkind

3. uncivilized

4. unlikeness
Options :
864351103775. 1
864351103776. 2
864351103777.3
864351103778. 4

Question Number : 3 Question Id : 86435129832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which is the closest meaning of the phrase to be hard of hearing ?
1. deaf
2. deafanddumb
3. careless
4 armrogant
Options :
864351103779. 1
864351103780. 2
864351103781.3

864351103782. 4

Question Number : 4 Question Id : 86435129833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the meaning of the idiom from the options given :

In black and white
1. useless
2. inshort
3. inwriting

4. in full swing
Options :
864351103783. 1
864351103784. 2
864351103785. 3

864351103786. 4

Question Number : 5 Question Id : 86435129834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable antonym :

RAPTURE
1. despair
2. elation

3. ecstasy

4. hell
Options :
864351103787. 1
864351103788. 2
864351103789. 3

864351103790. 4

Question Number : 6 Question Id : 86435129835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Complete the second sentence by selecting the appropriate option :

One way to improve your health is to eat more fruit and vegetables.
Alternatively

"y

you could fall ill
2. you could go on diet
3. you could exercise more

4. you could increase risk of your heart disease
Options:
864351103791. 1
864351103792. 2
864351103793. 3

864351103794. 4

Question Number : 7 Question Id : 86435129836 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with right word :

An employee might be given a privilege as a form of

1. punishment

2. reward

3. increment

4. commendation
Options :
864351103795. 1
864351103796. 2

864351103797. 3

864351103798. 4



Question Number : 8 Question Id : 86435129837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct option for use of ‘the’ :
1. the Delhi
2. the city of Delhi
3. the southern India

4. the long island
Options :
864351103799. 1
864351103800. 2
864351103801. 3

864351103802. 4

Question Number : 9 Question Id : 86435129838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with correct preposition :

| am worried exam.
1. on
2 in
3. about
4 of

Options :

864351103803. 1
864351103804. 2
864351103805. 3
864351103806. 4



Question Number : 10 Question Id : 86435129839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
identify the meaning of the idiom from the options given :
Hit the road

1. end the journey
2. an accident
3. begin the journey
4. happy times
Options :
864351103807. 1
864351103808. 2
864351103809. 3
864351103810. 4

Question Number : 11 Question Id : 86435129840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What will come in place of the question mark (?) in the expression?
4003 x 77 -21015=7x 116

1. 2467
2. 2476
3. 2477
4. 2478
Options :

864351103811. 1
864351103812. 2
864351103813. 3

864351103814. 4



Question Number : 12 Question Id : 86435129841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : For making statues, we are using bronze.
ReasonR . Through the mixing of copper and tin, we produce bronze.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3.  Ais correct but R is not correct
4. Ais not correct but R is correct
Options :
864351103815. 1
864351103816. 2
864351103817.3

864351103818. 4

Question Number : 13 Question Id : 86435129842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The sum of five numbers is 260. The average of the first two numbers is 30 and
the average of the last two numbers is 70. What is the third number?

1. 40
2. Db
3. 95
4. 60
Options :

864351103819. 1
864351103820. 2



864351103821. 3

864351103822. 4

Question Number : 14 Question Id : 86435129843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thirty-six workers can finish a piece of work in 14 days. If the work is to be
completed in 8 days, how many extra workers are required?

1. 24
2. 23
<,
4. 28
Options:

864351103823. 1
864351103824. 2
864351103825. 3

864351103826. 4

Question Number : 15 Question Id : 86435129844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What should come in the blank space in the following number series?

0,2,  .18,32 50
1 D
2 B
< T
4 8

Options:

864351103827. 1



864351103828. 2
864351103829. 3

864351103830. 4

Question Number : 16 Question Id : 86435129845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Three of the following four are alike in certain way based on the English
alphabetical series and so form a group. Which is the one that does not belong
to that group?

1. WXST
2. HCDE
3. QRMN
4. |JEF
Options:

864351103831. 1
864351103832. 2
864351103833. 3

864351103834. 4

Question Number : 17 Question Id : 86435129846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If every alternate Saturdays and all Sundays are holidays in a 30 days month
beginning on Saturday, then how many working days are there in that month?

L a2l

2. 22
3. 23
4. 24

Options :



864351103835. 1
864351103836. 2
864351103837. 3

864351103838. 4

Question Number : 18 Question Id : 86435129847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Pointing to a woman in the photograph, Neetu said, "Her son's father is the
son-in-law of my mother”. How is Neetu related to the woman?

1. Mother
2. Sister
3.  Aunt

4. Mother-in-law
Options :
864351103839. 1
864351103840. 2
864351103841. 3

864351103842. 4

Question Number : 19 Question Id : 86435129848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Suneeta travelled 5 km towards east direction. She turned right and went for
3 km. Then she turned west and travelled for 1 km. How far is she from the
starting point?

1. 3km
2. 5km
3. 9km

4. 10km



Options :

864351103843. 1
864351103844. 2
864351103845. 3
864351103846. 4

Question Number : 20 Question Id : 86435129849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a certain code, TEMPORAL is written as OLDSMBSP. How is CONSIDER
written in that code?

1. RMNBSFEJ

2. BNMRSFEJ

3. RMNBJEFS

4. TOPDQDCH
Options :

864351103847. 1
864351103848. 2
864351103849. 3
864351103850. 4

Question Number : 21 Question Id : 86435129850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Whose creations are Harshacharita and Kadambari?
1. Kalhana
2. Panini
3. Banabhatta

4. Patanjali

Options :



864351103851. 1
864351103852. 2
864351103853. 3

864351103854. 4

Question Number : 22 Question Id : 86435129851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Present-day Istanbul in Turkey was earlier known as

1. Ankara
2. Ottoman
3. Constantinople
4. Byzantine

Options :

864351103855. 1

864351103856. 2

864351103857. 3

864351103858. 4

Question Number : 23 Question Id : 86435129852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Space X is

1. an Indian autogiant

2 a movie on space

3. name of a spy agency

4 an American private space company
Options :
864351103859. 1

864351103860. 2



864351103861. 3
864351103862. 4

Question Number : 24 Question Id : 86435129853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UN day is celebrated on
1.  26th November
2.  24th November
3.  26th October
4.  24th October

Options :

864351103863. 1

864351103864. 2

864351103865. 3

864351103866. 4

Question Number : 25 Question Id : 86435129854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The famous novel, Middlemarch was written by
1. George Eliot
2. William Wordsworth
3. William Shakespeare
4. Ruskin Bond

Options:

864351103867. 1

864351103868. 2

864351103869. 3

864351103870. 4



PART B - GEOINFORMATICS

SectionId: 8643511227
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511460
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 86435129855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which of the following countries is primitive subsidence farming carried out?
1. Spain
2. France
3. Venezuela

4. ltaly
Options :
864351103871. 1
864351103872. 2
864351103873. 3
864351103874. 4



Question Number : 27 Question Id : 86435129856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who proposed the theory of Least-cost Location?
1.  Alfred Weber
2. August Losch
3. Walter Isard

4. D.M. Smith
Options:
864351103875. 1
864351103876. 2
864351103877. 3

864351103878. 4

Question Number : 28 Question Id : 86435129857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which country is the highest producer of sugarcane?

1.  Philippines

2. China

3. Thailand

4. Braazil
Options :

864351103879. 1
864351103880. 2
864351103881. 3

864351103882. 4



Question Number : 29 Question Id : 86435129858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is the cotton industrial region of India?
1. Mumbai-Pune
2. Valsad-Surat
3.  Hugli

4. Bangalore-Chennai
Options:
864351103883. 1
864351103884. 2
864351103885. 3

864351103886. 4

Question Number : 30 Question Id : 86435129859 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which country is the largest producer of platinum?

1. Columbia

2 Canada

3 Russia

4. South Africa
Options :
864351103887. 1
864351103888. 2

864351103889. 3

864351103890. 4



Question Number : 31 Question Id : 86435129860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which country has the longest railway network in the world?

1. USA

2. India

3. China

4. Canada
Options :

864351103891. 1
864351103892. 2
864351103893. 3

86435110389%4. 4

Question Number : 32 Question Id : 86435129861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which is the busiest port in the world?

1.  Hong Kong

2. Singapore

3. Shenzhen

4. Busan
Options:

864351103895. 1
864351103896. 2
864351103897. 3

864351103898. 4



Question Number : 33 Question Id : 86435129862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is the industrial region of Asia?
1. Manchurian

pl Caucasus

3. Leipzig
4. Rhine
Options :

864351103899. 1
864351103900. 2
864351103901. 3

864351103902. 4

Question Number : 34 Question Id : 86435129863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is a hard silvery metal, essential in making stainless
steel?

1. Antimony
2. Tungsten
3. Chromium

4. Vanadium
Options :
864351103903. 1
864351103904. 2

864351103905. 3



864351103906. 4

Question Number : 35 Question Id : 86435129864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pass is located on the Western Ghats?

: i MNathu La
2. Pal Ghat
3 Shipki La

4. Khyber Pass
Options :
864351103907. 1
864351103908. 2
864351103909. 3
864351103910. 4

Question Number : 36 Question Id : 86435129865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sindh Sagar doab is located between which rivers?
1. Beas-Satluj
2. Beas-Ravi
3. Ravi-Chenab

4. Jhelum-Chenab
Options :
864351103911. 1
864351103912. 2
864351103913. 3



864351103914. 4

Question Number : 37 Question Id : 86435129866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

V/hich State has the highest percentage of urbanization according to 2001
census?

1.  Maharashtra

2.  Tamil Nadu

3. Kerala

4. Qdisha
Options :

864351103915. 1
864351103916. 2
864351103917. 3

864351103918. 4

Question Number : 38 Question Id : 86435129867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is a village settlement pattern?
1. Incident
2. Meandering
3. Radial

4. Checkerboard
Options :
864351103919. 1

864351103920. 2



864351103921. 3

864351103922. 4

Question Number : 39 Question Id : 86435129868 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

\Which of the following is an Industrial city?
1.  Bhusawal
2. Alleppey
3. Bhadravati

4. Bhilwara
Options:
864351103923. 1
864351103924. 2
864351103925. 3

864351103926. 4

Question Number : 40 Question Id : 86435129869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which state in India has the highest percentage of out-migration as per 2011
census?

1. Uttar Pradesh
2. Bihar
3. Gujarat

4. Madhya Pradesh
Options :

864351103927. 1



864351103928. 2
864351103929. 3

864351103930. 4

Question Number : 41 Question Id : 86435129870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following states is the largest producer of freshwater fish?
1. Telangana
2. Karnataka
3. West Bengal

4. Andhra Pradesh
Options :
864351103931. 1
864351103932. 2
864351103933. 3

864351103934. 4

Question Number : 42 Question Id : 86435129871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which state in India has the largest coal reserve?
1.  Jharkhand
2. Odisha
3. Chhattisgarh

4. Madhya Pradesh
Options :

864351103935. 1



864351103936. 2
864351103937. 3
864351103938. 4

Question Number : 43 Question Id : 86435129872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Green revolution in India increased the production of which crop?

1.  Maize

2. Rice

3. Cotton

4.  Wheat
Options :

864351103939. 1
864351103940. 2
864351103941. 3

864351103942. 4

Question Number : 44 Question Id : 86435129873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Major cash crop in India is
1. Jute
2. Sugarcane
3. Banana

4. Tea
Options :

864351103943. 1



864351103944. 2
864351103945. 3

864351103946. 4

Question Number : 45 Question Id : 86435129874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following countries has the most tree cover?

1.  Braazil

2. Canada

3. USA

4. Russia
Options:

864351103947. 1
864351103948. 2
864351103949. 3
864351103950. 4

Question Number : 46 Question Id : 86435129875 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At what latitude boreal forest are located in the northern hemisphere?

1.  158%-25°N

2. 50°%-60°N

3. 30°-40°N

4. 0°-10°N
Options:

864351103951. 1



864351103952. 2
864351103953. 3

864351103954. 4

Question Number : 47 Question Id : 86435129876 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

'‘Which of the following is not a biotic component of ecosystem?
1. Fungi
2.  Water
3. Bacteria

4. Plant
Options:
864351103955. 1
864351103956. 2
864351103957. 3

864351103958. 4

Question Number : 48 Question Id : 86435129877 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

is an instrument that helps public decision makers to decide
on initiatives with a certain environmental condition.

1. Environmental Impact Assessment
2. Eco-labeling
3.  Cost-benefit analysis

4. Ecological resilience

Options :



864351103959. 1
864351103960. 2
864351103961. 3

864351103962. 4

Question Number : 49 Question Id : 86435129878 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sound level above which it is classified as sound pollution is

1. 90dB

2. 75dB

3. 100dB

4. 40dB
Options :

864351103963. 1
864351103964. 2
864351103965. 3

864351103966. 4

Question Number : 50 Question Id : 86435129879 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the size of Great Pacific Garbage?
1. 1.6 million? km
2. 1.6 billion? km
3. 2.6 million® km

4. 1.6 trillion? km

Options :



864351103967. 1
864351103968. 2
864351103969. 3

864351103970. 4

Question Number : 51 Question Id : 86435129880 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which country is most affected by soil acidification (2020)7?
1.  Columbia
2. Canada
3. Russia

4. Australia
Options :
864351103971. 1
864351103972. 2
864351103973. 3

864351103974. 4

Question Number : 52 Question Id : 86435129881 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year the Central Pollution Control Board was established?

1. 1984
2. 1974
3. 1976
4. 1999

Options :



864351103975. 1
864351103976. 2
864351103977. 3

864351103978. 4

Question Number : 53 Question Id : 86435129882 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Namami Gange plan was approved in which year?

1. 2093
2. 2015
3. 2012
4. 2014
Options :

864351103979. 1
864351103980. 2
864351103981. 3
864351103982. 4

Question Number : 54 Question Id : 86435129883 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What gas is responsible for Greenhouse gas effect?
1. Nitrogen
2. Oxygen
3. Carbon dioxide

4. Helium

Options :



864351103983. 1
864351103984. 2
864351103985. 3

864351103986. 4

Question Number : 55 Question Id : 86435129884 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following aquatic plants is effective in preventing water pollution?
1. Duckweed
2. Mosquito fern
3. Water hyacinth

4. Water lily
Options:
864351103987. 1
864351103988. 2
864351103989. 3

864351103990. 4

Question Number : 56 Question Id : 86435129885 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who proposed the heartland theory?

: B Halford J. Mackinder
2 Paul Vidal de La Blache
3. Alfred Hettner

4. Oscar Peschel

Options:



864351103991. 1
864351103992. 2
864351103993. 3

86435110399%4. 4

Question Number : 57 Question Id : 86435129886 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who wrote the book Kosmos?
1.  Carl Ritter
2.  Alexander von Humboldt
3. Oscar Peschel
4.  Friedrich Ratzel

Options:

864351103995. 1
864351103996. 2
864351103997. 3

864351103998. 4

Question Number : 58 Question Id : 86435129887 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The increased space of interconnectedness due to globalization was termed as
by geographers.

1. embodied space
2. urbanization
3. placelessness

4. time-space convergence



Options :

864351103999. 1
864351104000. 2
864351104001. 3
864351104002. 4

Question Number : 59 Question Id : 86435129888 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who are classified as Global North countries?
1. Developed Countries
2. Developing Countries
3. Under-Developed Countries

4.  African Countries
Options :
864351104003. 1
864351104004. 2
864351104005. 3

864351104006. 4

Question Number : 60 Question Id : 86435129889 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

stage of demographic transition has low birthrate and low death rate.

1. N



Options :

864351104007. 1
864351104008. 2
864351104009. 3

864351104010. 4

Question Number : 61 Question Id : 86435129890 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which is the full form of UNESCQO?

1. Union Nations Educational, Social and Cultural Organization
2. United Nations Educational, Scientific and Cultural Organization
3. United Nations Educational, Social and Cultural Organization

4.  Union Nations Educational, Scientific and Cultural Organization
Options :
864351104011. 1
864351104012. 2
864351104013. 3
864351104014. 4

Question Number : 62 Question Id : 86435129891 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

McMahon line is between which countries?
1.  India-Bangladesh
2. Pakistan-China
3. Bangladesh-India

4. India-China



Options :

864351104015. 1
864351104016. 2
864351104017. 3

864351104018. 4

Question Number : 63 Question Id : 86435129892 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who is the newest member of NATO?
1. North Macedonia
2.  Montenegro
3. Slovakia

4. Croatia
Options :
864351104019. 1
864351104020. 2
864351104021. 3

864351104022. 4

Question Number : 64 Question Id : 86435129893 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The proposed Istanbul Canal will connect which of the following water bodies?
1. Black Sea-Aral Sea
2. Red Sea-Mediterranean Sea
3. Seaof Marmara-Black Sea

4. Red Sea-Sea of Marmara
Options :
864351104023. 1
864351104024. 2
864351104025. 3

864351104026. 4

Question Number : 65 Question Id : 86435129894 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is the fourth sustainable development goal?
1.  Zero hunger
2. No poverty
3. Gender Equality

4. Quality Education
Options:
864351104027. 1
864351104028. 2
864351104029. 3

864351104030. 4

Question Number : 66 Question Id : 86435129895 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Name the largest glacier in Karakoram range.

1. Yinsugaiti

2. Chumik

3. Bilafond

4. Siachen
Options :

864351104031. 1
864351104032. 2
864351104033. 3

864351104034. 4

Question Number : 67 Question Id : 86435129896 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following programs was introduced by the government of India to
attain SDG goal 67

1. Swachh Bharat Abhiyan
2. Pradhan Mantri Awas Yojana
3. Pradhan Mantri Jan Dhan Yojana

4.  National Rural Livelihood Mission
Options :
864351104035. 1
864351104036. 2
864351104037. 3

864351104038. 4

Question Number : 68 Question Id : 86435129897 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following factors in water causes coral bleaching?
1. Turbidity
2. Qcean current
3. Temperature rise

4. Increased evaporation
Options :
864351104039. 1
864351104040. 2
864351104041. 3
864351104042. 4

Question Number : 69 Question Id : 86435129898 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which country has the largest percent share of carbon footprint?

1. USA

2. China

3. India

4. Japan
Options :

864351104043. 1
864351104044. 2
864351104045. 3

864351104046. 4

Question Number : 70 Question Id : 86435129899 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is a method to reduce CO;from the atmosphere?
1. Carbon Sequestration
2. Burning Fossil fuel
3. Deforestation

4. Automobile Emission
Options:
864351104047. 1
864351104048. 2
864351104049. 3

864351104050. 4

Question Number : 71 Question Id : 86435129900 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which State has received the Smart State Award ISAC 20207

§ |3 Uttar Pradesh

2. Punjab

3. Delhi

4. Rajasthan
Options :

864351104051. 1
864351104052. 2
864351104053. 3

864351104054. 4



Question Number : 72 Question Id : 86435129901 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which country in the world has the lowest female sex ratio?

1. Pakistan

2. China

3. Nepal

4. India
Options :

864351104055. 1
864351104056. 2
864351104057. 3

864351104058. 4

Question Number : 73 Question Id : 86435129902 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following projections preserves the true shape of the continents?
1. Homolographic

2. Orthomorphic

3. Azimuthal
4. Cordiform
Options:

864351104059. 1
864351104060. 2
864351104061. 3

864351104062. 4



Question Number : 74 Question Id : 86435129903 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the projections is suitable to show the international boundary between
USA and Canada?

1. Cylindrical Equal Area Projection
2. Polar Zenithal equidistant Projection
3. Conventional Projection

4. Simple conical Projection
Options:
864351104063. 1
864351104064. 2
864351104065. 3

864351104066. 4

Question Number : 75 Question Id : 86435129904 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Flow diagram is used to depict which of the following?

1. Density
2. Temperature
3. Direction
4. Frequency

Options :

864351104067. 1

864351104068. 2

864351104069. 3

864351104070. 4



Question Number : 76 Question Id : 86435129905 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statistical diagrams is used to depict wind-rose?
1.  Pie chart
2. Histogram
3. Line diagram

4.  Star diagram
Options :
864351104071. 1
864351104072. 2
864351104073. 3

864351104074. 4

Question Number : 77 Question Id : 86435129906 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the use of a compass?
1.  Determining North Pole
2. Determining magnetic North
3. Determining magnetic South

4. Determining South Pole
Options:
864351104075. 1
864351104076. 2
864351104077. 3

864351104078. 4



Question Number : 78 Question Id : 86435129907 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the use of cadastral maps?
1. Assessing heat Island
2.  Military Purpose
3. Determining land parcel size

4. Watershed Management
Options :
864351104079. 1
864351104080. 2
864351104081. 3

864351104082. 4

Question Number : 79 Question Id : 86435129908 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the length of engineer’s chain used for chain survey?

1. 66 feet

2. 50 feet

3. 100 feet

4. T75feet
Options:

864351104083. 1
864351104084. 2
864351104085. 3

864351104086. 4



Question Number : 80 Question Id : 86435129909 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What are the lines representing points with equal height called?
1. Isobar
2. Isohaline
3. Isotherm

4. Contour
Options :
864351104087. 1
864351104088. 2
864351104089. 3

864351104090. 4

Question Number : 81 Question Id : 86435129910 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which is the oldest known civilization?
1. Sumerian

2. Indus valley

3. Mayan
4. Egyptian
Options :

864351104091. 1
864351104092. 2
864351104093. 3

864351104094. 4



Question Number : 82 Question Id : 86435129911 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which is the most followed religion in Asia?

1.  Christianity
2. lIslam

3.  Hinduism
4. Buddhism

Options :

864351104095. 1
864351104096. 2
864351104097. 3

864351104098. 4

Question Number : 83 Question Id : 86435129912 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following are the indigenous tribes of Australia?

1. Wiradjuri

2. Inuit

3. Bantu

4. Munda
Options :

864351104099. 1
864351104100. 2
864351104101. 3

864351104102. 4



Question Number : 84 Question Id : 86435129913 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which from the following was the capital of Inca civilization?
1. Lima

2. Machu Picchu

3. Cusco
4. Juliaca
Options :

864351104103. 1
864351104104. 2
864351104105. 3

864351104106. 4

Question Number : 85 Question Id : 86435129914 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

From which place in India did Buddhism originate?

1. Kalinga

2. Sarnath

3. Gaya

4. Patliputra
Options:

864351104107. 1
864351104108. 2
864351104109. 3

864351104110. 4



Question Number : 86 Question Id : 86435129915 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which cyclone caused the maximum devastation in Odisha?

1. 1999 Cyclone

2. Kyarr

3. Goni

4. Vardha
Options :

864351104111. 1
864351104112. 2
864351104113. 3

864351104114. 4

Question Number : 87 Question Id : 86435129916 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who is the chairman of the National Disaster Management Cell?
1. The President of India
2.  The Prime Minister of India
3. The Home Minister

4.  The Chief Ministers of States
Options :
864351104115. 1
864351104116. 2
864351104117. 3

864351104118. 4



Question Number : 88 Question Id : 86435129917 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following earthquakes in 2004 caused the Tsunami atthe Indian
coast?

1. Guerrero, Mexico

2. Loyalty Islands, New Caledonia

3. New Britain

4.  Sumatra—Andaman
Options :
864351104119. 1
864351104120. 2
864351104121. 3

864351104122. 4

Question Number : 89 Question Id : 86435129918 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The tool used to detect a tsunamiis
1.  Sonar Waves
2. Rain Gauge
3. Wind vane

4. Bouy
Options :
864351104123. 1
864351104124. 2

864351104125. 3



864351104126. 4

Question Number : 90 Question Id : 86435129919 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases has caused a pandemic?
1.  HIV-AIDS
2. Zika virus
3. Yellow fever

4. Ebola
Options:
864351104127. 1
864351104128. 2
864351104129. 3

864351104130. 4

Question Number : 91 Question Id : 86435129920 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The reason for Gujarat to be prone to earthquake is
1. Transform plate boundary
2. Divergent plate boundary
3. Trench

4. Collision zone
Options :
864351104131. 1
864351104132. 2
864351104133. 3



864351104134. 4

Question Number : 92 Question Id : 86435129921 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many stations does the National Center for Seismology have?

1. 41
2. 115
3. 105
4. 120
Options :

864351104135. 1
864351104136. 2
864351104137. 3

864351104138. 4

Question Number : 93 Question Id : 86435129922 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is an active volcanic island in the Indian Ocean?
1. Lakshadweep
2. Diulsland
3. Barren Island

4. St Mary's Island
Options :
864351104139. 1

864351104140. 2



864351104141. 3

864351104142. 4

Question Number : 94 Question Id : 86435129923 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

is/are major incidence(s) which cause(s) widespread damage to
person, property and lead(s) to disruption of human and commercial activities.

1. Crises
2.  Hazards
3. Disasters

4. Vulnerability
Options :
864351104143. 1
864351104144. 2
864351104145. 3

864351104146. 4

Question Number : 95 Question Id : 86435129924 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

is mitigation strategy for landslide.
1.  Creation of surface storage
2.  Constructing gabion
3. Prevention of evaporation loss

4. Dam construction
Options :

864351104147. 1



864351104148. 2
864351104149. 3

864351104150. 4

Question Number : 96 Question Id : 86435129925 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jim Corbett National Park is located in which State?
1 Uttar Pradesh
2.  Assam
3. Uttarakhand
4. Odisha
Options:
864351104151. 1
864351104152. 2

864351104153. 3

864351104154. 4

Question Number : 97 Question Id : 86435129926 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

are tourists who do not consider themselves as tourists.
1. Leisure tourists
2. Business tourists
3.  Drifters

4. Explorers
Options :

864351104155. 1



864351104156. 2
864351104157. 3

864351104158. 4

Question Number : 98 Question Id : 86435129927 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The founded in 1990, is the body which represents the Travel
and
Tourism private sector globally.

1. World Travel and Tourism Council
2. Indian Association of Tour Operators
3. Travel Agents Association of India

4. International Air Transport Association
Options :
864351104159. 1
864351104160. 2
864351104161. 3

864351104162. 4

Question Number : 99 Question Id : 86435129928 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

holiday is a type of tourism.

1. Sports
2. Music and recreation
3. Wellness and health

4. Entertainment

Options :



864351104163. 1
864351104164. 2
864351104165. 3

864351104166. 4

Question Number : 100 Question Id : 86435129929 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following States in India has the lowest literacy rate according to
2011 census?

1. Uttar Pradesh

2. Bihar

3. Rajasthan

4. Jharkhand
Options :
864351104167. 1
864351104168. 2

864351104169. 3

864351104170. 4



